VILLAGE OF LOMBARD REQUEST FOR BOARD OF TRUSTEES ACTION

For Inclusion on Board Agenda Bids and Proposals

TO :	President and V	illage Board of Truste	ees	
FROM :	Scott Niehaus, V	Village Manager		
DATE :	July 10, 2018	Agenda Date <u>Ju</u>	ly 19, 2018	
TITLE :	Waiver of Bids	- Contract Extension I	FY 2018 Sewer La	iteral Lining Project
SUBMITTED BY:	Brian Jack, Utili	ties Superintenden		
RESULTS:		,		
Date Bid Was Publi	shed	_ Bidding Closed		
Total Number of Pr				
Total Number of Pr				
Bid Security Requir		Yes	No	
Performance Bond	Required	Yes	No	
Were Any Bids Wit	hdrawn	Yes	No	
Explanation:				
Waiver of Bids Req		XYes	No	
If yes, explain: See				
Award Recommend		Yes	No	
Responsible Propos	ser?			
If no, explain:				
FISCAL IMPACT:				
	/budget estimate	e \$55,000.00 FY2018		
		17 (Acct # 520.790.715.	.75350 – RM PRC	G 13)
				*
BACKGROUND/R			T. T. 111	·
		43,700.00 for FY2018 5	sewer Lateral Lin	ung to Pertormance
Pipelining Inc. of O	ttawa, IL.			
Has Recommended	Bidder Worked	for Village Previously	_X_Yes	No
If yes, was quality of		9		No
Was item bid in acc	ordance with Pu	blic Act 85-1295?	Yes X	No
Waiver of bids - Pu	blic Act 85-1295 o	does not apply	X Yes	
REVIEW (as needed	d):			
Village Attorney XX	•		_ Date	
Finance Director XX			_ Date	
Village Manager XX			_ Date	

NOTE: All materials must be submitted to and approved by the Village Manager's Office by 4:30 pm, Wednesday, prior to the Board Agenda distribution.

MEMORANDUM



To: Scott Niehaus, Village Manager

From: Brian M. Jack, Utilities Superintendent

Through: Carl Goldsmith, Director of Public Works

Date: July 5, 2018

Subject: FY2018 Sewer Lateral Lining Project – Contract Extension

Background

The Department of Public Works utilized sewer lateral lining for main and building sewer lines for several years with great success. The sewer lateral lining process is used when a sewer lateral needs repair due to extensive root growth, cracks or other defects that can be remedied without replacing the pipe, thus reducing restoration costs and inconvenience to the residents. However, there are instances when replacement is the only method that will correct the pipe failures. This replacement is only down when lateral lining is not an option.

The lining process essentially inserts a new pipe inside the existing pipe without excavation. The Public Works Department conducted a pilot project in 2005 to evaluate the T-Liner process and found it to be acceptable. The T-Liner lines a portion of the sewer main at the connection and shoots a liner up the lateral to the clean out.

The Department of Public Works solicited Requests for Proposals for Sewer Lateral Lining on September 7, 2017 and received two proposals in return. Performance Pipelining of Ottawa, IL was the lowest qualified bidder. Performance Pipelining has business with the Village of Lombard for sewer lateral lining in the past in which their work was acceptable to the Village. Enclosed is the proposal tabulation for the FY 2017 Sewer Lateral Lining Project highlighting Performance Pipelining as the lowest qualified bidder. The two submitted bids are as follows:

Contractor	Bid
Performance Pipelining – Ottawa, IL	\$43,700.00
National Power Rodding - Chicago, IL	\$68,500.00

The Water and Sewer Capital Reserve Fund has a budget of \$55,000 for Sewer Lateral Lining in RM PROG 13. The quantities in the proposal are estimates in order to obtain pricing and work orders will be issued to identify the locations and quantities to remain within budget. Payment for work performed will be based upon measured quantities multiplied by the contract unit prices.

The FY2017 Bid Document allows for a one-year extension of the contract of both parties agree to the same terms and conditions of the original contract. Both the Village and Performance Pipelining are in agreement and wish to extend the contract for 2018 at the original contract terms.

Recommendation

Please request the Board of Trustees to award a contract in the amount of \$43,700 for FY2018 for sewer lateral lining to Performance Pipelining Inc. of Ottawa, IL at their July 19, 2018 meeting.

DATE		7		4	637		100
	77-Sep-1/	Репо	Performance Pipellning	Builli	Natio	National Power Rodding	adıng
TIME	: 10:00 AM	7	1551 W Norris Dr	ŏ	250	2500 W Arthington St	n St
D00C	DOCUMENT # PWU NAME &		Ottawa, IL 61350	20	ਹੋ 	Chicago, IL 60612	12
D00C	DOCUMENT NAME: BIDDER		815-433-0080				
<u> </u>	FY2017 Sewer Lateral Lining Project EXCEPTIONS	S					
8	ITEM	QUANTITY	UNIT	TOTAL	QUANTITY	UNIT	TOTAL
~	"T Style" Lining System (base price, up to and including 15 ft length, 8" main, 6" lateral)	1.00	\$4,000.00	\$4,000.00	1.00	\$5,500.00	\$5,500.00
2	"T Style" Lining System (base price, up to and including 15 ft length, 10" main, 6" lateral)	1.00	\$4,150.00	\$4,150.00	1.00	\$5,500.00	\$5,500.00
ო	"T Style" Lining System (base price, up to and including 15 ft length, 12" main, 6" lateral)	1.00	\$4,300.00	\$4,300.00	1.00	\$5,500.00	\$5,500.00
4	"T Style" Lining System (base price, up to and including 15 ft length, 15" main, 6" lateral)	1.00	\$4,500.00	\$4,500.00	1.00	\$7,800.00	\$7,800.00
က	"T Style" Lining System (base price, up to and including 15 ft length, 18" main, 6" lateral)	1.00	\$5,500.00	\$5,500.00	1.00	\$7,800.00	\$7,800.00
ဖ	"T Style" Lining System (base price, up to and including 15 ft length, 21" main, 6" lateral)	1.00	\$6,000.00	\$6,000.00	1.00	\$8,500.00	\$8,500.00
7	"T Style" Lining System (base price, up to and including 15 ft length, 24" main, 6" lateral)	1.00	\$6,500.00	\$6,500.00	1.00	\$9,500.00	\$9,500.00
∞	"T Style" Lining System (in addition to base, 6" lateral)	al) 25.00	\$65.00	\$1,625.00	25.00	\$69.00	\$1,725.00
တ	"Clean-Out Shot" Lining System (base price, up to and including 15 ft length)	1.00	\$3,500.00	\$3,500.00	1.00	\$8,000.00	\$8,000.00
10	"Clean-Out Shot" Lining System (in addition to base)	25.00	\$65.00	\$1,625.00	25.00	\$69.00	\$1,725.00
6	Mobilization	2.00	\$1,000.00	\$2,000.00	2.00	\$3,500.00	\$7,000.00
	TOTAL			\$43,700.00			\$68,550.00
	Additional Items						
-	By-Pass Pumping per hr		\$300.00	\$0.00		\$650.00	\$0.00
2	Alternate Access (Backyards, Easements) - Each		\$800.00	\$0.00		\$2,800.00	\$0.00
GRAN	GRAND TOTAL			\$43,700.00			\$68,550.00

Jack, Brian

From: Chad Wilson <cwilson.ppiliner@gmail.com>

Sent: Thursday, July 5, 2018 4:35 PM **To:** Jack, Brian; Stillwell, Shaun

Cc: Chad Wilson; Rick Krumscheid; Cheryl Taplin; Paula Corbin; Paully Corbin; Lonnie Avery

Subject: Re: Lombard 2018 Sewer Lateral Lining Contract Extension

Brian,

Hope all is well on your end! We are good with our last years prices and agree to accepting the 2017 pricing for the 2018 work. Please let me know what is needed from me we look forward to working with you all again.

Thanks,

Chad Wilson, President
Performance Pipelining, Inc.
1551 W Norris Dr, Ottawa IL 61350
815-433-0080 office
815-579-8016 cell
815-431-0307 fax
cwilson.ppiliner@gmail.com

Performance Pipelining, Inc. - CONFIDENTIALITY NOTE: This electronic message is intended solely for the use of the recipient(s) to whom it is addressed and may contain information that is privileged, confidential, or otherwise exempt from disclosure under applicable law. If the reader of this message is not an intended recipient, any dissemination, distribution or copying of this communication (including any attachments) is strictly prohibited. If you have received this communication in error, please delete it (including any attachments) from your system without copying or forwarding it, and notify the sender of the error by reply email.

On Jul 5, 2018, at 9:57 AM, Jack, Brian < Jack B@villageoflombard.org > wrote:

Chad,

Attached are the locations for our sewer lateral lining project for 2018. The bid from 2017 allows us to extend the contract for an additional year if both parties agree with the same terms and conditions from 2017. We would like to extend the additional year at the same pricing as bid. Please let me know if you are acceptable to extend for 2018.

We are scheduled to have board approval for the contract extension at the 7/19/18 board meeting if you are acceptable to extend.

Please let me know if you have any questions.

Thanks!

VILLAGE OF LOMBARD

FY 2018 Sewer Lateral Lining Project

This agreement is made this 19th day of July, 2018 by and between, and shall be binding upon, the Village of Lombard, an Illinois Municipal Corporation hereinafter referred to as (the "Village") and <u>Performance Pipelining Inc.</u> hereinafter referred to as (the "Contractor").

Witnesseth That in consideration of the mutual promises of the parties delineated in the Contract Documents, and herein, the Contractor agrees to sell and install and the Village agrees to pay for the following described items and the installation of the same as set forth in the Contract Documents:

Provide labor, equipment and materials for sewer lateral lining in an amount not to exceed \$43,700.00 FY 2018

- 1. This Contract shall embrace and include all of the applicable Contract Documents listed below as if attached hereto or repeated herein:
 - a. Request for Proposal for FY 2017 Sewer Lateral Lining Project consisting of the following:
 - i) Cover Sheet
 - ii) Table of Contents
 - iii) Solicitation Letter
 - iv) General Terms, Conditions and Instructions
 - v) Specific Terms, Conditions and Instructions
 - vi) Proposal Form
 - vii) Plans and Specifications and Specification Deviation Form
 - b. The Contractor's Proposal Dated September 22, 2017
 - c. Documentation of honoring schedule of pricing for FY 2018
 - d. Required Certificate of Insurance

- 2. The Village agrees to pay, and the Contractor agrees to accept as full payment for the items, and installation of the same, which are the subject matter of this Contract, in accordance with the provisions of the Local Government Prompt Payment Act and the provisions of the Contract Documents.
- 3. Risk of loss, destruction or damage of or to goods under this Contract shall be on contractor until installation and acceptance of the goods by the Village.
- 4. Contractor shall not delegate the duties involved in the performance of the installation services which are the subject matter of this Contract without the written approval of the Village.
- 5. The Contractor represents and warrants that it will comply with all applicable Federal, State and local laws concerning prevailing wage rates regarding installation services provided under this Contract and all Federal, state and local laws concerning equal employment opportunities.
- 6. Time is of the essence of this Contract and Contractor agrees to achieve completion of the work order within the Contract time by all proper and appropriate means including working overtime without additional compensation.
- 7. In executing this Contract, Contractor agrees that it has examined the site of the work and the conditions existing therein, has examined the Contract Documents and taken and compared field measurements and conditions with those Documents.
- 8. This Contract represents the entire agreement between the parties and may not be modified without the written approval of both parties.
- 9. Where the terms of this Contract conflict with the provisions of the Contract Documents, the Contract Documents shall be binding.

IN WITNESS WHEREOF, the Village of Lombard, Illinois by Keith Giagnorio, Village President and the Contractor have hereunto set their hands this 19th day of July, 2018. If an individual or partnership, all individual names of each partner shall be signed or if a corporation, an officer duly authorized shall sign here:

Accepted thisday of		, 20
Individual or Partnership _	Corpora	tion
Ву		Position/Title
Ву		Position/Title
Print Company Name THE VILLAGE OF LOME	·	OIS
Accepted this 19 th day of Ju	11y, 2018.	
		Keith Giagnorio Village President
	Attest:	
		Sharon Kuderna Village Clerk

VILLAGE OF LOMBARD

CONTRACTOR'S CERTIFICATION

	(Officer or Owner of Company) having been first duly sworn depose and states as follows:
-	, having submitted a proposal for: (Name of Company)
FY	2015 Sewer Lateral Lining Project to the Village of Lombard hereby certifies that said CONTRACTOR:
1.	has a written sexual harassment policy in place in full compliance with 775 ILCS 5/2-105(A) (4).
2.	is not delinquent in the payment of any tax administered by the Illinois Department of Revenue, or if it is: a. it is contesting its liability for the tax or the amount of tax in accordance with procedures established by the approve Revenue Act; or b. it has entered into an agreement with the Department of Revenue for payment of all taxes due and is currently in compliance with that agreement.
3.	is in full compliance with the Federal Highway Administration Rules on Controlled Substances and Alcohol Use and Testing, 49 CFR Parts 40 and 382 and that (Name of employee/driver or "all employee drivers")
is/a	(Name of employee/driver or "all employee drivers") are currently participating in a drug and alcohol testing program pursuant to the aforementioned rules.
	Rv
	By:Authorized Agent of CONTRACTOR
	bscribed and sworn to fore me this
No	tary Public